

Reference: 186460

March 31, 2016

Email: CHAIRS c/o directors@lists.bclibrary.ca

Dear Public Library Board Chair,

The Ministry of Education is pleased to inform you that you will receive a **Library Operating** grant to support your library operations for 2016.

The Ministry will deposit funds electronically into the account at the financial institution that your library has designated. A notice will be mailed to you once payment has been made.

Attached to this letter you will find the Library Operating Grant Allocations summary which provides you details on the funds associated with this grant. Please be advised that we are maintaining library operating grants at 2015 levels. Further information on expectations and priorities for this and other library grants will follow.

Provincial funding for libraries, while distributed as four grants through 2016, should be considered jointly, and used in mutually supportive ways to ensure that our Provincial priorities for libraries are met and that collectively, libraries across the province remain strong.

Funding for individual public libraries in 2016 will be distributed as the following:

- Operating Grant (March 2016);
- Resource Sharing Grant (Spring 2016);
- BC OneCard Grant (Spring 2016); and
- Library Literacy Grant (Spring 2016).

In accordance with conditions placed on all government grants, libraries must submit specific documents as outlined below. Continued provincial funding for your library is contingent on the completion and filing of three reports:

- 1. 2016 Provincial Library Grants Report (due March 1, 2017),
- 2. 2016 Statement of Financial Information (SOFI) (due May 15, 2017), and
- 3. 2016 Annual Survey of Public Libraries (also due May 15, 2017).

.../Page 2

The BC government is committed to open public access to information and is bound by the *Freedom of Information and Protection of Privacy Act*. The Province may release any or all

information submitted for these reports to the public and libraries are asked to consider that fact in their responses.

Please be aware that the Ministry will reclaim any portion of the grants should the library not use the funds received for the purposes outlined in the attached grants description and the priorities and expectations letters.

We would like to express our appreciation to library boards and library staff for their efforts in ensuring quality library services in communities across the province.

Sincerely,

Mari Martin Director

Attachment: 2016 Library Operating Grant Allocations (attached)

ec: Public Library Directors director@lists.bclibrary.ca



## 2016 Library Grants Allocations: Operating Grants

Part 1
Libraries Branch
Ministry of Education
March 30th, 2016

## **Operating Grant**

All British Columbia public libraries, established by the authority of the *Library Act*, may be eligible for annual per capita operating grants based on a funding formula. Funding for 2016 operating grants have been held at March 2015 levels.

Some libraries have been provided with minimum provincial levels of funding in order to mitigate the effects of future population loss on funding levels. This minimum level of operating funding is called **Grandparent Rates**. The Libraries Branch continues to honour these Grandparent Rates for affected public libraries in 2016.

The following table details the funding rates.

	Operating Grant per capita rate		
Distribution by Library Type	Rural Regional District	Urban Regional District	
Municipal Libraries and Public Library Associations (PLAs)			
Population served under 12,000	\$3.20	\$3.00	
Population served between 12,000 and 35,000	\$2.70	\$2.50	
Population served over 35,000	\$2.20	\$1.78	
Regional Library Districts			
Rural populations within district	\$4.10	\$3.90	
Municipal populations within district	\$2.20	\$1.78	
Regional District Integrated Library Systems			
Rural populations within district	\$4.10	\$4.10	
Municipal populations within district	\$2.20	\$2.20	

## Notes:

- Rates and population for 2016 are held at same levels as 2015.
- Population figures sourced from annual estimates provided by BC STATS. Where annual
  estimates are not available, population figures are sourced from 2011 Census data.
- Urban Regional Districts (RDs) for the purpose of public library operating grants include Capital,
   Central Okanagan, Fraser Valley and Greater Vancouver Regional Districts). All other Regional
   Districts are considered Rural RDs

**Table 1: 2016 Operating Grants – Summary** 

	Service				_	Fund at		
	Population	Sı	um of Sub	Gra	andparent	Grandparent	:	2015-16
Library	Used		Grants	,	Amount	level?	Ope	rating Grant
Alert Bay Public Library	979	\$	3,133	\$	4,243	Υ	\$	4,243
Beaver Valley Public Library	4,858	\$	15,546	\$	16,531	Y	\$	16,531
Bowen Island Public Library	3,475	\$	10,425	\$	9,486		\$	10,425
Burnaby Public Library	234,559	\$	417,515	\$	-		\$	417,515
Burns Lake Public Library	6,213	\$	19,882	\$	22,150	Υ	\$	22,150
Cariboo Regional District Library	62,685	\$	213,428	\$	243,747	Υ	\$	243,747
Castlegar Public Library	13,441	\$	36,291	\$	37,001	Υ	\$	37,001
Chetwynd Public Library	5,301	\$	16,963	\$	16,720		\$	16,963
Coquitlam Public Library	138,761	\$	246,995	\$	-		\$	246,995
Cranbrook Public Library	25,153	\$	67,913	\$	70,265	Υ	\$	70,265
Creston Public Library	13,321	\$	35,967	\$	35,414		\$	35,967
Dawson Creek Municipal Public Library	18,673	\$	50,417	\$	50,320		\$	50,417
Elkford Public Library	2,547	\$	8,150	\$	8,586	Υ	\$	8,586
Fernie Public Library	7,331	\$	23,459	\$	25,622	Υ	\$	25,622
Fort Nelson Public Library	6,076	\$	19,443	\$	20,170	Υ	\$	20,170
Fort St. James Public Library	4,555	\$	14,576	\$	15,574	Υ	\$	15,574
Fort St. John Public Library	33,518	\$	90,499	\$	-		\$	90,499
Fraser Lake Public Library	3,355	\$	10,736	\$	11,078	Υ	\$	11,078
Fraser Valley Regional Library	706,117	\$	1,284,277	\$	-		\$	1,284,277
Gibsons and District Public Library	11,761	\$	37,635	\$	-		\$	37,635
Grand Forks Public Library	8,469	\$	27,101	\$	-		\$	27,101
Granisle Public Library	304	\$	973	\$	4,258	Υ	\$	4,258
Greater Victoria Public Library	315,814	\$	562,149	\$	588,754	Υ	\$	588,754
Greenwood Public Library	948	\$	3,034	\$	3,187	Υ	\$	3,187
Hazelton Public Library	6,050	\$	19,360	\$	26,236	Υ	\$	26,236
Houston Public Library	3,129	\$	10,013	\$	12,147	Υ	\$	12,147
Hudson's Hope Public Library	1,039	\$	3,325	\$	4,093	Υ	\$	4,093
Invermere Public Library	7,612	\$	24,358	\$	28,160	Υ	\$	28,160
Kaslo & District Public Library	2,266	\$	7,251	\$	-		\$	7,251
Kimberley Public Library	8,064	\$	25,805	\$	27,309	Υ	\$	27,309
Kitimat Public Library	8,363	\$	26,762	\$	33,632	Υ	\$	33,632
Lillooet Public Library	4,250	\$	13,600	\$	14,406	Υ	\$	14,406
Mackenzie Public Library	3,598	\$	11,514	\$	18,311	Υ	\$	18,311
McBride Public Library	1,603	\$	5,130	\$	6,608	Υ	\$	6,608
Midway Public Library	663	\$	2,122	\$	3,000	Υ	\$	3,000
Nakusp Public Library	2,415	\$	7,728	\$	8,861	Υ	\$	8,861
Nelson Municipal Library	18,310	\$	49,437	\$	31,754		\$	49,437
New Westminister Public Library	68,280	\$	121,538	\$	116,572		\$	121,538
North Vancouver City Library	51,497	\$	91,665	\$	99,174	Υ	\$	99,174
North Vancouver District Public Library	88,984	\$	158,392	\$	178,264	Υ	\$	178,264
Okanagan Regional Library	362,559	\$	848,734	\$	945,807	Υ	\$	945,807
Pemberton Public Library	6,366	\$	20,371	\$	-		\$	20,371
Pender Island Public	4,983	\$	15,946	\$	-		\$	15,946
Penticton Public Library	33,160	\$	89,532	\$	93,369	Υ	\$	93,369

Port Moody Public Library	34,479	\$ 86,198	\$ 75,300		\$ 86,198
Pouce Coupe Public Library	748	\$ 2,394	\$ 3,000	Υ	\$ 3,000
Powell River Public Library	20,049	\$ 54,132	\$ 56,611	Υ	\$ 56,611
Prince George Public Library	87,451	\$ 192,392	\$ 200,917	Υ	\$ 200,917
Prince Rupert Public Library	14,245	\$ 38,462	\$ 46,888	Υ	\$ 46,888
Radium Hot Springs Public Library	1,340	\$ 4,288	\$ 2,947		\$ 4,288
Richmond Public Library	201,303	\$ 358,319	\$ -		\$ 358,319
Rossland Public Library	3,590	\$ 11,488	\$ 12,899	Y	\$ 12,899
Salmo Public Library	2,762	\$ 8,838	\$ 7,987		\$ 8,838
Salt Spring Island Public Library	10,476	\$ 31,428	\$ -		\$ 31,428
Sechelt Public Library	17,257	\$ 46,594	\$ 40,970		\$ 46,594
Smithers Public Library	7,601	\$ 24,323	\$ 26,592	Y	\$ 26,592
Sparwood Public Library	4,786	\$ 15,315	\$ 15,782	Y	\$ 15,782
Squamish Public Library	19,244	\$ 51,959	\$ -		\$ 51,959
Stewart Public Library	494	\$ 1,581	\$ 4,330	Y	\$ 4,330
Surrey Public Library	504,770	\$ 898,491	\$ -		\$ 898,491
Taylor Public Library	1,488	\$ 4,762	\$ -		\$ 4,762
Terrace Public Library	20,496	\$ 55,339	\$ 59,462	Y	\$ 59,462
Thompson Nicola Regional Library System	131,166	\$ 333,156	\$ 345,733	Y	\$ 345,733
Trail and District Public Library	8,979	\$ 28,733	\$ 36,035	Y	\$ 36,035
Tumbler Ridge Public Library	2,785	\$ 8,912	\$ 8,634		\$ 8,912
Valemount Public Library	1,701	\$ 5,443	\$ 6,992	Y	\$ 6,992
Vancouver Island Regional Library	427,415	\$ 1,175,646	\$ 1,179,056	Y	\$ 1,179,056
Vancouver Public Library	642,514	\$ 1,143,675	\$ 1,169,202	Y	\$ 1,169,202
Vanderhoof Public Library	7,972	\$ 25,510	\$ 26,538	Y	\$ 26,538
West Vancouver Memorial Library	44,807	\$ 79,756	\$ -		\$ 79,756
Whistler Public Library	10,485	\$ 33,552	\$ -		\$ 33,552
Total	4,541,808		_		\$ 9,806,014

## **Table 2: 2016 Operating Grants – Sub-Grant Details**

			Part or			
Library Name	Regional District	Sub Area (Community or Region)	Whole of Area	Service Population	Grant Rate	Sub Grant Amount
Alert Bay Public Library	Mount Waddington Regional District	Alert Bay		440	\$3.20	\$1,408
There bay I ablic Library	Mount Waddington Regional	Alert Bay 1 and Alert Bay 1A		110	ψ3.20	ψ1) 100
Alert Bay Public Library	District Kootenay Boundary Regional	Indian Reserves		539	\$3.20	\$1,725
Beaver Valley Public Library	District	Fruitvale		2036	\$3.20	\$6,515
Popuor Valloy Bublic Library	Kootenay Boundary Regional District	Montroco		1022	\$2.20	¢2 202
Beaver Valley Public Library	Kootenay Boundary Regional	Montrose		1032	\$3.20	\$3,302
Beaver Valley Public Library	District	Electoral Area A		1790	\$3.20	\$5,728
Bowen Island Public Library	Greater Vancouver Regional District	Bowen Island		3475	\$3.00	\$10,425
Durmahu Dublia Libranu	Greater Vancouver Regional	Durmahu		224550	ć1 70	Ć417 F1F
Burnaby Public Library	District Bulkley-Nechako Regional	Burnaby		234559	\$1.78	\$417,515
Burns Lake Public Library	District	Burns Lake		2373	\$3.20	\$7,594
Burns Lake Public Library	Bulkley-Nechako Regional District	Electoral Area B		2163	\$3.20	\$6,922
-	Bulkley-Nechako Regional					
Burns Lake Public Library	District	Electoral Area E		1677	\$3.20	\$5,366
Cariboo Regional District Library	Cariboo Regional District	Quesnel		9935	\$2.20	\$21,857
Cariboo Regional District Library	Cariboo Regional District	Williams Lake		10888	\$2.20	\$23,954
Cariboo Regional District Library	Cariboo Regional District	100 Mile House		1879	\$2.20	\$4,134
Cariboo Regional District Library	Cariboo Regional District	Wells Electoral Areas A, B, C, D, E, F, G,		235	\$2.20	\$517
Cariboo Regional District Library	Cariboo Regional District	H, I, J, K, L		39748	\$4.10	\$162,967
Castlegar & District Public Library	Central Kootenay Regional District	Castlegar		7762	\$2.70	\$20,957
	Central Kootenay Regional					
Castlegar & District Public Library	District Central Kootenay Regional	Electoral Area I		2622	\$2.70	\$7,079
Castlegar & District Public Library	District	Electoral Area J		3057	\$2.70	\$8,254
Chetwynd Public Library	Peace River Regional District	Chetwynd		2724	\$3.20	\$8,717
Chetwynd Public Library	Peace River Regional District	Electoral Area E	[part]	2577	\$3.20	\$8,246
Coquitlam Public Library	Greater Vancouver Regional District	Coquitlam		138761	\$1.78	\$246,995
Cranbrook Public Library	East Kootenay Regional District	Cranbrook		19245	\$2.70	\$51,962
Cranbrook Public Library	East Kootenay Regional District	Electoral Area C		5908	\$2.70	\$15,952
0 1 0 11: 11	Central Kootenay Regional			5460	ć2.70	612.056
Creston Public Library	District Central Kootenay Regional	Creston		5169	\$2.70	\$13,956
Creston Public Library	District	Electoral Area A		2082	\$2.70	\$5,621
Creston Public Library	Central Kootenay Regional District	Electoral Area B		4670	\$2.70	\$12,609
oreston rubine Elbrary	Central Kootenay Regional	Electoral / II ed B				<b>V12,003</b>
Creston Public Library  Dawson Creek Municipal Public	District	Electoral Area C		1400	\$2.70	\$3,780
Library	Peace River Regional District	Dawson Creek		12285	\$2.70	\$33,170
Dawson Creek Municipal Public	D D: D : 10:	51 . 14 . 5		5674	ć2.70	ć45.242
Library  Dawson Creek Municipal Public	Peace River Regional District	Electoral Area D		5671	\$2.70	\$15,312
Library	Peace River Regional District	Electoral Area E	[part]	717	\$2.70	\$1,936
Elkford Public Library	East Kootenay Regional District	Elkford		2547	\$3.20	\$8,150
Fernie Public Library	East Kootenay Regional District	Fernie		4538	\$3.20	\$14,522
Fernie Public Library	East Kootenay Regional District	Electoral Area A	[50%]	963	\$3.20	\$3,082
Fernie Public Library	East Kootenay Regional District Northern Rockies Regional	Electoral Area B	-	1830	\$3.20	\$5,856
Fort Nelson Public Library	Muncipality	Unincorporated Population	<u> </u>	19	\$3.20	\$61
Fort Moleon Dublis Library	Northern Rockies Regional	Northern Rockies Regional		6057	ć2 20	Ć40 202
Fort Nelson Public Library	Muncipality  Bulkley-Nechako Regional	Municipality		6057	\$3.20	\$19,382
Fort St. James Public Library	District	Fort St. James		1715	\$3.20	\$5,488
Fort St. James Public Library	Bulkley-Nechako Regional District	Electoral Area C		2840	\$3.20	\$9,088
	1		·		, ,	75,000

Fort St. John Public Library	Peace River Regional District	Fort St. John		20268	\$2.70	\$54,724
Fort St. John Public Library	Peace River Regional District	Electoral Area B		6628	\$2.70	\$17,896
Fort St. John Public Library	Peace River Regional District	Electoral Area C		6622	\$2.70	\$17,879
Fraser Lake Public Library	Bulkley-Nechako Regional District	Fraser Lake		1153	\$3.20	\$3,690
Fraser Lake Public Library	Bulkley-Nechako Regional District	Electoral Area D		2202	\$3.20	\$7,046
Fraser Valley Regional Library	Fraser Valley Regional District	Abbotsford		139195	\$1.78	\$247,767
Fraser Valley Regional Library	Fraser Valley Regional District	Chilliwack		84133	\$1.78	\$149,757
Fraser Valley Regional Library	Fraser Valley Regional District	Harrison Hot Springs		1508	\$1.78	\$2,684
Fraser Valley Regional Library	Fraser Valley Regional District	Hope		5930	\$1.78	\$10,555
Fraser Valley Regional Library	Fraser Valley Regional District	Kent		6588	\$1.78	\$11,727
Fraser Valley Regional Library	Fraser Valley Regional District	Mission		37549	\$1.78	\$66,837
Fraser Valley Regional Library	Greater Vancouver Regional District	Langley		26301	\$1.78	\$46,816
Fraser Valley Regional Library	Greater Vancouver Regional District	Port Coquitlam		59065	\$1.78	\$105,136
Eracer Valley Regional Library	Greater Vancouver Regional District	White Rock		19248	\$1.78	\$34,261
Fraser Valley Regional Library	Greater Vancouver Regional	Willie Rock		19246	\$1.76	334,201
Fraser Valley Regional Library	District Greater Vancouver Regional	Delta		102637	\$1.78	\$182,694
Fraser Valley Regional Library	District Greater Vancouver Regional	Langley (Township of)		113022	\$1.78	\$201,179
Fraser Valley Regional Library	District Greater Vancouver Regional	Maple Ridge		79142	\$1.78	\$140,873
Fraser Valley Regional Library	District	Pitt Meadows		18880	\$1.78	\$33,606
Fraser Valley Regional Library	Fraser Valley Regional District	Electoral Areas A, B, C, D, E, F, G, H		12785	\$3.90	\$49,862
Fraser Valley Regional Library	Greater Vancouver Regional District	Electoral Area A (Barnston Island)	[part]	134	\$3.90	\$523
Gibsons & District Public Library	Sunshine Coast Regional District	Gibsons		4486	\$3.20	\$14,355
Gibsons & District Public Library	Sunshine Coast Regional District	Electoral Area D (Roberts Creek)	[50%]	1658	\$3.20	\$5,306
Gibsons & District Public Library	Sunshine Coast Regional District	Electoral Area E (Elphinstone)		3558	\$3.20	\$11,386
Gibsons & District Public Library	Sunshine Coast Regional District	Electoral Area F (West Howe Sound)		2059	\$3.20	\$6,589
Grand Forks & District Public	Kootenay Boundary Regional District	Grand Forks		4026	\$3.20	\$12,883
Library Grand Forks & District Public	Kootenay Boundary Regional	Grand Forks		4020	\$3.20	\$12,003
Library	District	Electoral Area C		1350	\$3.20	\$4,320
Grand Forks & District Public Library	Kootenay Boundary Regional District	Electoral Area D		3093	\$3.20	\$9,898
Granisle Public Library	Bulkley-Nechako Regional District	Granisle		304	\$3.20	\$973
Greater Victoria Public Library	Capital Regional District	Victoria		82959	\$1.78	\$147,667
Greater Victoria Public Library	Capital Regional District	Colwood		16405	\$1.78	\$29,201
Greater Victoria Public Library	Capital Regional District	Central Saanich		18355	\$1.78	\$32,672
Greater Victoria Public Library	Capital Regional District	Esquimalt		16389	\$1.78	\$29,172
Greater Victoria Public Library	Capital Regional District	Highlands		2186	\$1.78	\$3,891
Greater Victoria Public Library	Capital Regional District	Langford		32834	\$1.78	\$58,445
Greater Victoria Public Library	Capital Regional District	Metchosin		5130	\$1.78	\$9,131
Greater Victoria Public Library	Capital Regional District	Oak Bay		17657	\$1.78	\$31,429
Greater Victoria Public Library	Capital Regional District	Saanich		110879	\$1.78	\$197,365
Greater Victoria Public Library	Capital Regional District	View Royal		10858	\$1.78	\$19,327
Greater Victoria Public Library	Capital Regional District Kootenay Boundary Regional	Electoral Area H (Juan De Fuca)	[part]	2162	\$1.78	\$3,848
Greenwood Public Library	District  Kootenay Boundary Regional	Greenwood		699	\$3.20	\$2,237
Greenwood Public Library	District	Electoral Area E	[part]	249	\$3.20	\$797
Hazelton District Public Library	Kitimat-Stikine Regional District	New Hazelton		648	\$3.20	\$2,074
Hazelton District Public Library	Kitimat-Stikine Regional District	Hazelton		913	\$3.20	\$2,922
Hazelton District Public Library	Kitimat-Stikine Regional District	Electoral Area B		4489	\$3.20	\$14,365
Houston Public Library	Bulkley-Nechako Regional District	Houston		3129	\$3.20	\$10,013

Hudson's Hope Public Library	Peace Piver Pegional District	Hudson's Hope	1	1039	\$3.20	\$3,325
Invermere Public Library	Peace River Regional District  East Kootenay Regional District	Invermere		2934	\$3.20	\$9,389
Invermere Public Library	East Kootenay Regional District	Electoral Area F		3104	\$3.20	\$9,933
Invermere Public Library	East Kootenay Regional District	Electoral Area G	[60%]	860	\$3.20	\$2,752
Invermere Public Library	East Kootenay Regional District	Canal Flats	[0070]	714	\$3.20	\$2,732
Kaslo & District Public Library	Central Kootenay Regional District	Kaslo		1012	\$3.20	\$3,238
Kaslo & District Public Library	Central Kootenay Regional District	Electoral Area D	[part]	1254	\$3.20	\$4,013
Kimberley Public Library	East Kootenay Regional District	Kimberley		6406	\$3.20	\$20,499
Kimberley Public Library	East Kootenay Regional District	Electoral Area E		1658	\$3.20	\$5,306
Kitimat Public Library	Kitimat-Stikine Regional District	Kitimat		8363	\$3.20	\$26,762
Lillooet Area Public Library	Squamish-Lillooet Regional District	Lillooet		2343	\$3.20	\$7,498
Lillooet Area Public Library	Squamish-Lillooet Regional District	Electoral Area A		241	\$3.20	\$771
,	Squamish-Lillooet Regional			1666	\$3.20	\$5,331
Lillooet Area Public Library	District Fraser-Fort George Regional	Electoral Area B		1666		
Mackenzie Public Library	District Fraser-Fort George Regional	Mackenzie		3498	\$3.20	\$11,194
Mackenzie Public Library	District Fraser-Fort George Regional	Electoral Area G	[25%]	100	\$3.20	\$320
McBride & District Public Library	District	McBride		582	\$3.20	\$1,862
McBride & District Public Library	Fraser-Fort George Regional District	Electoral Area H	[60%]	1021	\$3.20	\$3,267
Midway Public Library	Kootenay Boundary Regional District	Midway		663	\$3.20	\$2,122
Nakusp Public Library	Central Kootenay Regional District	Nakusp		1581	\$3.20	\$5,059
,	Central Kootenay Regional	·	, ,			
Nakusp Public Library	District Central Kootenay Regional	Electoral Area K	[part]	834	\$3.20	\$2,669
Nelson Municipal Library	District Control Kontonov Regional	Nelson		9877	\$2.70	\$26,668
Nelson Municipal Library	Central Kootenay Regional District Central Kootenay Regional	Electoral Area F		4057	\$2.70	\$10,954
Nelson Municipal Library	District	Electoral Area H		4376	\$2.70	\$11,815
New Westminster Public Library	Greater Vancouver Regional District	New Westminster		68280	\$1.78	\$121,538
North Vancouver City Library	Greater Vancouver Regional District	North Vancouver		51497	\$1.78	\$91,665
North Vancouver District Public Library	Greater Vancouver Regional District	North Vancouver		88984	\$1.78	\$158,392
	Central Okanagan Regional					
Okanagan Regional Library	District Okanagan-Similkameen Regional	Kelowna		121574	\$1.78	\$216,402
Okanagan Regional Library	District Central Okanagan Regional	Electoral Area A		1900	\$4.10	\$7,790
Okanagan Regional Library	District	Lake Country		12149	\$1.78	\$21,625
Okanagan Regional Library	Okanagan-Similkameen Regional District	Electoral Area B		1266	\$4.10	\$5,191
Okanagan Regional Library	Central Okanagan Regional District	Peachland		5153	\$1.78	\$9,172
Okanagan Regional Library	Okanagan-Similkameen Regional District	Electoral Area C		4119	\$4.10	\$16,888
Okanagan Regional Library	Columbia-Shuswap Regional District	Golden		3691	\$2.20	\$8,120
Okanagan Regional Library	Okanagan-Similkameen Regional District	Electoral Area D (incl. Penticton IR)		7405		
Okanagan Regional Library  Okanagan Regional Library	Columbia-Shuswap Regional District	Revelstoke		7405	\$4.10	\$30,361
,	Okanagan-Similkameen Regional					
Okanagan Regional Library	District Columbia-Shuswap Regional	Electoral Area E		1852	\$4.10	\$7,593
Okanagan Regional Library	District Okanagan-Similkameen Regional	Salmon Arm		17354	\$2.20	\$38,179
Okanagan Regional Library	District Columbia-Shuswap Regional	Electoral Area F		2109	\$4.10	\$8,647
Okanagan Regional Library	District	Sicamous		2410	\$2.20	\$5,302

	Okanagan-Similkameen Regional					Ī
Okanagan Regional Library	District	Electoral Area G		2524	\$4.10	\$10,348
Okanagan Regional Library	North Okanagan Regional District	Armstrong		5061	\$2.20	\$11,134
Okanagan Regional Library	North Okanagan Regional District	Coldstream		10163	\$2.20	\$22,359
Okanagan Regional Library	North Okanagan Regional District	Enderby		2912	\$2.20	\$6,406
Okanagan Regional Library	North Okanagan Regional District	Lumby		1723	\$2.20	\$3,791
	North Okanagan Regional	,				
Okanagan Regional Library	District North Okanagan Regional	Spallumcheen		5056	\$2.20	\$11,123
Okanagan Regional Library	District Okanagan-Similkameen Regional	Vernon		38135	\$2.20	\$83,897
Okanagan Regional Library	District	Keremeos		1331	\$2.20	\$2,928
Okanagan Regional Library	Okanagan-Similkameen Regional District	Oliver		4516	\$2.20	\$9,935
Okanagan Regional Library	Okanagan-Similkameen Regional District	Osoyoos		4834	\$2.20	\$10,635
	Okanagan-Similkameen Regional	,		2740	ć2.20	
Okanagan Regional Library	District Okanagan-Similkameen Regional	Princeton		2749	\$2.20	\$6,048
Okanagan Regional Library	District Central Okanagan Regional	Summerland		11239	\$2.20	\$24,726
Okanagan Regional Library	District	West Kelowna		38412	\$1.78	\$68,373
Okanagan Regional Library	Central Okanagan Regional District	Electoral Areas I, J (including WestBank IR's)		7307	\$3.90	\$28,497
Okanagan Regional Library	Columbia-Shuswap Regional District	Electoral Areas A, B, C, D, E, F		19988	\$4.10	\$81,951
	North Okanagan Regional					
Okanagan Regional Library	District Squamish-Lillooet Regional	Electoral Areas B, C, D, E, F		18386	\$4.10	\$75,383
Pemberton & District Public Library	District	Pemberton		2589	\$3.20	\$8,285
Pemberton & District Public Library	Squamish-Lillooet Regional District	Electoral Area C		3777	\$3.20	\$12,086
Pender Island Public Library	Capital Regional District	Electoral Area G (Southern Gulf Islands)		4983	\$3.20	\$15,946
Penticton Public Library	Okanagan-Similkameen Regional District	Penticton		33160	\$2.70	\$89,532
Port Moody Public Library	Greater Vancouver Regional District	Port Moody		34479	\$2.50	\$86,198
Pouce Coupe Public Library	Peace River Regional District	Pouce Coupe		748	\$3.20	\$2,394
Powell River Public Library	Powell River Regional District	Sechelt Ind. Gov. Dist. [part]		23	\$2.70	\$62
Powell River Public Library	Powell River Regional District	Powell River		13439	\$2.70	\$36,285
Powell River Public Library	Powell River Regional District	Electoral Area A		1836	\$2.70	\$4,957
Powell River Public Library	Powell River Regional District	Electoral Area B		1552	\$2.70	\$4,190
Powell River Public Library	Powell River Regional District	Electoral Area C		2101	\$2.70	\$5,673
Powell River Public Library	Powell River Regional District	Electoral Area D		1098	\$2.70	\$2,965
1 owell river 1 abite Elbrary	Fraser-Fort George Regional	Electoral Area D		1030	ÿ2.70	\$2,505
Prince George Public Library	District	Prince George		74133	\$2.20	\$163,093
Prince George Public Library	Fraser-Fort George Regional District	Electoral Area A (Including IRs)		3518	\$2.20	\$7,740
Prince George Public Library	Fraser-Fort George Regional District	Electoral Area G	[75%]	299	\$2.20	\$658
Prince George Public Library	Fraser-Fort George Regional District	Electoral Area C			\$2.20	-
Prince George Public Library	Fraser-Fort George Regional	Electoral Area C		3510	\$2.20	\$7,722
Prince George Public Library	District Fraser-Fort George Regional	Electoral Area D		4267	\$2.20	\$9,387
Prince George Public Library	District	Electoral Area E		490	\$2.20	\$1,078
Prince George Public Library	Fraser-Fort George Regional District	Electoral Area F		1234	\$2.20	\$2,715
Prince Rupert Library	Skeena-Queen Charlotte Regional District	Prince Rupert		12342	\$2.70	\$33,323
Prince Rupert Library	Skeena-Queen Charlotte Regional District	Port Edward		551	\$2.70	\$1,488
	Skeena-Queen Charlotte					
Prince Rupert Library	Regional District Skeena-Queen Charlotte	Electoral Area A		784	\$2.70	\$2,117
Prince Rupert Library	Regional District	Electoral Area C		568	\$2.70	\$1,534

Radium Hot Springs Public Library	East Kootenay Regional District	Radium Hot Springs		767	\$3.20	\$2,454
Radium Hot Springs Public Library	East Kootenay Regional District	Electoral Area G [part]	[40%]	573	\$3.20	\$1,834
nadam not springs r abite Library	Greater Vancouver Regional	Electoral Alled & [part]	[4070]	373	<b>\$3.20</b>	71,034
Richmond Public Library	District	Richmond		201303	\$1.78	\$358,319
Rossland Public Library	Kootenay Boundary Regional District	Rossland		3590	\$3.20	\$11,488
	Central Kootenay Regional					
Salmo Public Library	District Central Kootenay Regional	Salmo		1133	\$3.20	\$3,626
Salmo Public Library	District	Electoral Area G		1629	\$3.20	\$5,213
		Electoral Area F (Salt Spring			4	4
Salt Spring Island Public Library	Capital Regional District	Island)		10476	\$3.00	\$31,428
Sechelt Public Library	Sunshine Coast Regional District	Sechelt		9285	\$2.70	\$25,070
Sechelt Public Library	Sunshine Coast Regional District	Indian Government Sechelt Electoral Area A (Egmont, Pender		843	\$2.70	\$2,276
Sechelt Public Library	Sunshine Coast Regional District	Harbour)	[part]	1430	\$2.70	\$3,861
Sechelt Public Library	Sunshine Coast Regional District	Electoral Area A [part]	[part]	1307	\$2.70	\$3,529
Sechelt Public Library	Sunshine Coast Regional District	Electoral Area B (Halfmoon Bay)		2734	\$2.70	\$7,382
Sechelt Public Library	Sunshine Coast Regional District	Electoral Area D (Roberts Creek)	[50%]	1658	\$2.70	\$4,477
Conithaga Dublia Library	Bulkley-Nechako Regional District	Cmithous		F310	ć2 20	¢16.701
Smithers Public Library	Bulkley-Nechako Regional	Smithers		5219	\$3.20	\$16,701
Smithers Public Library	District	Electoral Area A	[part]	2382	\$3.20	\$7,622
Sparwood Public Library	East Kootenay Regional District	Sparwood		3823	\$3.20	\$12,234
Sparwood Public Library	East Kootenay Regional District	Electoral Area A	[50%]	963	\$3.20	\$3,082
Squamich Dublic Library	Squamish-Lillooet Regional District	Squamich		10645	¢2.70	\$50,342
Squamish Public Library	Squamish-Lillooet Regional	Squamish		18645	\$2.70	\$50,342
Squamish Public Library	District	Electoral Area D	[66.6%]	599	\$2.70	\$1,617
Stewart Public Library	Kitimat-Stikine Regional District	Stewart		494	\$3.20	\$1,581
Surrey Public Library	Greater Vancouver Regional District	Surrey		504770	\$1.78	\$898,491
Taylor Public Library	Peace River Regional District	Taylor		1488	\$3.20	\$4,762
Terrace Public Library	Kitimat-Stikine Regional District	Terrace		11550	\$2.70	\$31,185
Terrace Public Library	Kitimat-Stikine Regional District	Electoral Area C [part1]		2963	\$2.70	\$8,000
Terrace Public Library	Kitimat-Stikine Regional District	Electoral Area E		4074	\$2.70	\$11,000
•		School District 92 [Service				
Terrace Public Library Thompson-Nicola Regional District	Kitimat-Stikine Regional District Thompson-Nicola Regional	Agreement]		1909	\$2.70	\$5,154
Library System	District	Ashcroft		1600	\$2.20	\$3,520
Thompson-Nicola Regional District	Thompson-Nicola Regional					
Library System Thompson-Nicola Regional District	District Thompson-Nicola Regional	Cache Creek		1009	\$2.20	\$2,220
Library System	District	Chase		2483	\$2.20	\$5,463
Thompson-Nicola Regional District	Thompson-Nicola Regional	all i		500	40.00	4
Library System Thompson-Nicola Regional District	District Thompson-Nicola Regional	Clinton		638	\$2.20	\$1,404
Library System	District	Kamloops		87705	\$2.20	\$192,951
Thompson-Nicola Regional District	Thompson-Nicola Regional			2070	ć2 20	64.573
Library System Thompson-Nicola Regional District	District Thompson-Nicola Regional	Logan Lake		2078	\$2.20	\$4,572
Library System	District	Lytton		229	\$2.20	\$504
Thompson-Nicola Regional District	Thompson-Nicola Regional District	Morritt		7206	ć2 20	¢16 271
Library System Thompson-Nicola Regional District	Thompson-Nicola Regional	Merritt Electoral Areas		7396	\$2.20	\$16,271
Library System	District	A,B,E,I,J,L,M,N,O,P		23469	\$4.10	\$96,223
Thompson-Nicola Regional District Library System	Thompson-Nicola Regional District	Barriere		1782	\$2.20	\$3,920
Thompson-Nicola Regional District	Thompson-Nicola Regional	Burriere		1/02	<i>γ</i> 2.20	<i>33,32</i> 0
Library System	District	Clearwater		2361	\$2.20	\$5,194
Thompson-Nicola Regional District Library System	Thompson-Nicola Regional District	Sun Peaks		416	\$2.20	\$915
	Kootenay Boundary Regional	23 60		410	Y2.20	7513
Trail & District Public Library	District	Trail		7307	\$3.20	\$23,382
Trail & District Public Library	Kootenay Boundary Regional District	Warfield		1672	\$3.20	\$5,350
Tumbler Ridge Public Library	Peace River Regional District	Tumbler Ridge		2785	\$3.20	\$8,912
Unserved	Kootenay Boundary Regional	Electoral Area B	[20%]	1354	\$0.00	\$0,312
	Jotema, Journally Regional	co.o.a.,ca b	[=3/0]	1337	φυ.υυ	70

	District					
Unanced	Greater Vancouver Regional	A		2225	ć0.00	ćo
Unserved	District Greater Vancouver Regional	Anmore		2235	\$0.00	\$0
Unserved	District	Belcarra		633	\$0.00	\$0
Unserved	Greater Vancouver Regional District	Lions Bay		1353	\$0.00	\$0
Unserved	Central Kootenay Regional District	New Denver		500	\$0.00	\$0
	Central Kootenay Regional	CIL.		405	¢0.00	
Unserved	District Central Kootenay Regional	Silverton		195	\$0.00	\$0
Unserved	District	Slocan		327	\$0.00	\$0
Unserved	Bulkley-Nechako Regional District	Telkwa		1471	\$0.00	\$0
Unserved	Bulkley-Nechako Regional District	Electoral Area A [part]		3132	\$0.00	\$0
Oliseived	Bulkley-Nechako Regional	Electoral Area A [part]		3132	\$0.00	, JU
Unserved	District Bulkley-Nechako Regional	Electoral Area F [part]		684	\$0.00	\$0
Unserved	District	Electoral Area G		1174	\$0.00	\$0
Unserved	Central Kootenay Regional District	Electoral Area D [part]		188	\$0.00	\$0
Offserveu	Central Kootenay Regional	Electoral Area D [part]		100	\$0.00	, JU
Unserved	District	Electoral Area E		3858	\$0.00	\$0
Unserved	Central Kootenay Regional District	Electoral Area K [part]		961	\$0.00	\$0
Unserved	Greater Vancouver Regional District	Electoral Area A [excluding Barnston Island]		15704	\$0.00	\$0
Unserved	Kitimat-Stikine Regional District	Electoral Area C [part]		651	\$0.00	\$0 \$0
Unserved	Kitimat-Stikine Regional District	Electoral Area D		630	\$0.00	\$0
Unserved	Kitimat-Stikine Regional District	Electoral Area F		394	\$0.00	\$0
Unserved	Kootenay Boundary Regional District	Electoral Area E [part]		1662	\$0.00	\$0
Unserved	Stikine	Electoral Area E [part] Entire region		626	\$0.00	\$0 \$0
Unserved	Kitimat-Stikine Regional District	Electoral Area A [part]		36	\$0.00	\$0
Unserved	Kitimat-Stikine Regional District	Electoral Area E [part]		630	\$0.00	\$0
Unserved	Okanagan-Similkameen Regional District	Electoral Area H		1776	\$0.00	\$0
Valemount Public Library	Fraser-Fort George Regional District	Valemount		1020	\$3.20	\$3,264
valentount i abile Library	Fraser-Fort George Regional	Valendane		1020	γ3.20	73,204
Valemount Public Library	District Alberni-Clayoquot Regional	Electoral Area H	[40%]	681	\$3.20	\$2,179
Vancouver Island Regional Library	District	Port Alberni		16769	\$2.20	\$36,892
Vancouver Island Regional Library	Alberni-Clayoquot Regional District	Tofino		2049	\$2.20	\$4,508
-	Alberni-Clayoquot Regional					
Vancouver Island Regional Library	District	Ucluelet		1703	\$2.20	\$3,747
Vancouver Island Regional Library	Capital Regional District	North Saanich		10973	\$1.78	\$19,532
Vancouver Island Regional Library  Vancouver Island Regional Library	Capital Regional District Capital Regional District	Sidney Sooke		11191 12363	\$1.78 \$1.78	\$19,920 \$22,006
Vancouver Island Regional Library	Comox Valley Regional District	Courtenay		24314	\$2.20	\$53,491
Vancouver Island Regional Library	Strathcona Regional District	Campbell River		32475	\$2.20	\$71,445
Vancouver Island Regional Library	Comox Valley Regional District	Comox		13541	\$2.20	\$29,790
Vancouver Island Regional Library	Comox Valley Regional District	Cumberland		3489	\$2.20	\$7,676
Vancouver Island Regional Library	Strathcona Regional District	Gold River		1251	\$2.20	\$2,752
Vancouver Island Regional Library	Strathcona Regional District	Sayward		309	\$2.20	\$680
Vancouver Island Regional Library	Strathcona Regional District	Tahsis		311	\$2.20	\$684
Vancouver Island Regional Library	Strathcona Regional District	Zeballos		115	\$2.20	\$253
Vancouver Island Regional Library	Cowichan Valley Regional District	Duncan		4592	\$2.20	\$10,102
Vancouver Island Regional Library	Cowichan Valley Regional District	North Cowichan		29277	\$2.20	\$64,409
Vancouver Island Regional Library	Cowichan Valley Regional District	Ladysmith		8077	\$2.20	\$17,769
Vancouver Island Regional Library	Cowichan Valley Regional District  Mount Waddington Regional	Lake Cowichan		3065	\$2.20	\$6,743
Vancouver Island Regional Library	District	Port Hardy		4023	\$2.20	\$8,851

Vancouver Island Regional Library	Mount Waddington Regional District	Port McNeill		2524	\$2.20	\$5,553
Vancouver Island Regional Library	Mount Waddington Regional District	Port Alice		804	\$2.20	\$1,769
Vancouver Island Regional Library	Nanaimo Regional District	Lantzville		3612	\$2.20	\$7,946
Vancouver Island Regional Library	Nanaimo Regional District	Nanaimo		86057	\$2.20	\$189,325
Vancouver Island Regional Library	Nanaimo Regional District	Parksville		11852	\$2.20	\$26,074
	T T T T T T T T T T T T T T T T T T T					
Vancouver Island Regional Library	Nanaimo Regional District Skeena-Queen Charlotte	Qualicum Beach		8481	\$2.20	\$18,658
Vancouver Island Regional Library	Regional District	Masset		862	\$2.20	\$1,896
Tunedater island neglecial Elerary	Skeena-Queen Charlotte	Masset		002	ψ2.20	Ų1,030
Vancouver Island Regional Library	Regional District	Port Clements		371	\$2.20	\$816
Vancouver Island Regional Library	Skeena-Queen Charlotte Regional District	Queen Charlotte City		935	\$2.20	\$2,057
Vancouver Island Regional Library	Alberni-Clayoquot Regional District	Electoral Area A, B, C, D, E, F		10191	\$4.10	\$41,783
Vancouver Island Regional Library	Capital Regional District	Electoral Area H - Juan de Fuca	[part]	5112	\$3.90	\$19,937
Vancouver Island Regional Library	Central Coast Regional District	Electoral Areas A,B,C,D,E	il.	3208	\$4.10	\$13,153
		Strathcona Regional District EA's		9224	\$4.10	\$37,818
Vancouver Island Regional Library	Strathcona Regional District	A, B, C & D  Comox Valley Regional District		9224	\$4.10	\$37,818
Vancouver Island Regional Library	Comox Valley Regional District	EA's A,B & C		22551	\$4.10	\$92,459
	Mount Waddington Regional	Electoral Area A [except Alert Bay 1 and Alert Bay 1A Indian				
Vancouver Island Regional Library	District	Reserve		1124	\$4.10	\$4,608
Vancouver Island Regional Library	Nanaimo Regional District	Electoral Areas A,B,C,D,E,F,G,H		39242	\$4.10	\$160,892
Vancouver Island Regional Library	Powell River Regional District	Electoral Area E		444	\$4.10	\$1,820
	Skeena-Queen Charlotte				4	4
Vancouver Island Regional Library	Regional District	Electoral Area D		1833	\$4.10	\$7,515
Vancouver Island Regional Library	Cowichan Valley Regional District	Electoral Areas A,B,C,D,E,F,G,H.I		36693	\$4.10	\$150,441
Veneza a lalend Desirand Library	Mount Waddington Regional	Flortanal Anna D		96	ć4.40	¢204
Vancouver Island Regional Library	District  Mount Waddington Regional	Electoral Area B		96	\$4.10	\$394
Vancouver Island Regional Library	District	Electoral Area C		1724	\$4.10	\$7,068
,	Mount Waddington Regional				7	Ţ.,,,,,
Vancouver Island Regional Library	District	Electoral Area D		273	\$4.10	\$1,119
	Skeena-Queen Charlotte				4	
Vancouver Island Regional Library	Regional District	Electoral Area E		315	\$4.10	\$1,292
Vancouver Public Library	Greater Vancouver Regional District	Vancouver		642514	\$1.78	\$1,143,675
variedaver i abite Elbrary	Bulkley-Nechako Regional	Valledavel		042514	ÿ1.70	ψ1,143,013
Vanderhoof Public Library	District	Vanderhoof		4523	\$3.20	\$14,474
	Bulkley-Nechako Regional					
Vanderhoof Public Library	District	Electoral Area F	[part]	3449	\$3.20	\$11,037
West Vancouver Memorial Library	Greater Vancouver Regional District	West Vancouver		44807	\$1.78	\$79,756
	Squamish-Lillooet Regional					
Whistler Public Library	District	Whistler		10185	\$3.20	\$32,592
Whistler Public Library	Squamish-Lillooet Regional District	Electoral Area D	[33.3%]	300	\$3.20	\$960
			[55.575]	550	Ψ5.25	<b>4500</b>